
Part Number/Price 
Item # Part # Description Price
1 145988 Screw socket head 6-32 × 3/8 stainless steel $1.75
2 192406 Cover plate load train $39.00
3 146001 Screw socket head 1/2-20 × 1-1/4 pltd $4.25
4 16431 Battery, 1.5 V AA alkaline pack of 8 $4.00
5 191147 Battery cap assembly $180.00
6 191155 Cable roller $140.00

7 192660 Bolt shoulder 1/2-13 unc shoulder diameter 0.623-621 × 
1.25 length with thread locker black oxide $22.00

8 189583 Electronics assembly LCD $975.00
9 192858 Cable assembly serial RS-232 $46.00

10 142197 Screw, pan head 6-32 × 5/16 long Phillips drive stainless 
steel with locking patch material applied $2.25

11 158437 PCA terminal block 8000HD $51.00
12 146226 Spacer .140 inch id × .125 inch lg #6 clearance #4001 $2.00
13 191038 Gasket display silicone $18.00
14 161622 Cable assembly int load cell term block to display board input $17.00

15 194530 Screw shoulder socket head 6-32 5/32 diameter × 5/16 long  
alloy steel black oxide $7.50

Dyna-Clamp
Front and Back Assembly

178 www.ricelake.com    |   Phone: 800-472-6703 
An ISO 9001:2015 Accredited Company   © 2024 Rice Lake Weighing Systems   1/24   Prices and specifications subject to change without notice. Visit ricelake.com for current prices.

REPLACEM
ENT PARTS



Dyna-Clamp
Front and Back Assembly

Dyna-Clamp Front

Dyna-Clamp Back

179www.ricelake.com    |   Phone: 800-472-6703 
An ISO 9001:2015 Accredited Company   © 2024 Rice Lake Weighing Systems   1/24   Prices and specifications subject to change without notice. Visit ricelake.com for current prices.

RE
PL

AC
EM

EN
T P

AR
TS


	Overhead Weighing
	Replacement Parts
	Dyna-Clamp Front and Back Assembly



